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SECTION - A/EUs — H

TH: 1. TNH A 15 ATgeiid SY-T &, Tedeh T2 il 39t AFan 15 § 20 21 §

TR | Tt W STfHaTd € | Wedes 99 03 (A1) AFi e | (15x3=45)
Que.: 1. Thisquestion contains 15 very short type sub-questions. Answer each question

in maximum 15 to 20 words. All questions are compulsory. Each question

carries 03 (three) marks.

vE: (1.1) oo g R oTw Ui H e e e 7
What is the difference between “Gypsum and Plaster of Paris™ ?

T (1.2) T (o0 HEH T TF Fedt 379 R W 30 kg T W@ 5 .
3 g vy e el R & 7 W e

A coolie is walking on a railway platform with a load of 30 kg on his head
How much work is done by coolie ? )

ue: (1.3) -, S o Tae WO dawdt g ?
Why water hyacinth floats on water ?

°le | , [P.T.O.
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TR (1.4)

qH: (1.5)

SR1: (1.6)

T3 : (1.7)

3: (1.8)

W (1.9)
w¥: (1.10)
T (1.11)
a9 : (1.12)

e (1.13)
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2 Raenet, Wit of Yyrmn 2R =1 v = g § | T8 I for wftar gra
ey <o i iR 0.62 % 1 o 3 B e o) Wi @ 7

Two players, Sangeeta and Reshma play a tennis match. It is known

that the probability of Sangeeta winning the match is 0.62. What is the
probability of Reshma winning the match ?

e et R 1 o e %, 540 O | G GERMI 38 20% A R |
Raei =1 sha g = o ¢

Selling price of toy car is Rs. 540. If the profit made by shopkeeper was
20%. What was the cost price of this toy ?

T o ATHR o U W 1 QG 480 m? &, 2 GHIRR il & siier 1

T 15 m & 3T I A T FII Y R TE 20 m R | GET TR ST
< TS 1 AR |

The area of a trapezium shaped field is 480 m?, the distance between two

parallel sides is 15 m and one of the parallel side is 20 m. Find the length
of other parallel side.

U AR R ?
What is the Pie Chart ?

O g R e 15 i e ® | s 1 e A R A am
¥ a1 T @M ? (n=3.14)

The minute hand of a circular clock is 15 cm long. How far does the tip
of the minute hand more one hour ? (n=3.14)

T sifse Wugt Hifa & s fofa |

Write the name of parts of National Intellectual Property Rights.
ISt g |

Transgenic Animals.

Wﬁ'ﬂﬁﬂq:ﬂtﬁﬁﬁl‘laﬁtﬂﬁl

Energy Management : Issues and Challenges.

el I Torad O 1 AR R 7

What do you mean by fecal sludge management ?

SEIE |

Bioremediation.
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| T: (1.14)  FeheTHOT THIHWA |

Venkatraman Ramakrishnan.

I : (1.15) 99 qm@ay |
Biomagnification.

WAz 2. Frefoltea § @ e 10 vl 3 3ac ifran 100 weEi # RaRaw) serew W 6 (D)
3Thi =T B (10x6=60)

Que.:2. Write the answers of any ten of the following questions in maximum 100 words.
Each question carries 6 (six) marks.

, TE: (2.1) S 3 WA AiSe 1 qui AR |

Describe Bohr's model of an atom.

T (2.2) A T T 38R YNF |
Sonic Boom and its effects.

S (2.3) 3T A I i ut R T SR 30 om, 40 cm, 50 cm B I et wes
I ST S, T S O el Gag STEe 1 9 7
Three solid cubes of sides 30 cm, 40 cm and 50 ¢m respectively are
melted and made one cube. Find the total surface area of new cube.

_ T (2.4) HIgeiehi-gaT T fovquft R |

Write note on Mitochondria,

T: (2.5) T e 4 o i e 1 i 6 g gem w409 2 | U9 gTeht
| ﬁwzz%mmﬁwgﬁﬁﬁwmmﬁﬁéw%agmmﬁﬁm
In a class, the percentage of girls is 40% of total number of students and
are 22 in number. Find the ratio of the number of girls to the number of
boys in the class.

T: (2.6) S STehIT TCAT o el AT 9 B | STef 3ehT 1 §H TR Seer B, A ur
o aftomt =3 He @ g & 27 Al §, @ < i sem T 2 7
; : Sum of the digits of a two digit number is 9. When we interchange the
i digits, it is found that the resulting new number is greater than the original
ks number by 27. What is the two digit number ?

(m: (2.7) @m,mmmmﬁmﬁm@l

Explain remote sensing, its types and uses.
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A: (2.8)  ShaTed $o @ 2R § ? geh I FFAA TA € 7

What are fossil fuels ? What are their disadvantages ?

/ SR: (2.9) ey A, T O U Frar ST 6w |

Explain climate change, its causes and remedial measures.

/T (2.10) T Tz - 2 vt Rwoft fafiaw |

Write note on Mission Chandrayaan — 2.

ST (2.11) vt dee sl — 1986 ) wqE Rrand @eEEd |

Explain salient features of Environment Protection Act — 1986.

IH: (2.12) i wow W fewgeft ferflag |
Write note on Bt Crops.

T 3. T9 I A 03 IU-NH T, TA® We FH I AHan 300 e H &A1 81 AHY A
e § | e W A ariafes fsed ot 31 araefi g s1iaftes forehed 1 WA/

T I W Ieohd I F G Tard: Hi| TedE T 15 (T=EE) A A el (3x15=45)
Que.:3. There are 03 sub-questions in this question, each has to be answered

in maximum 300 words. All questions are mandatory. There is

also an internal option in every question. The answer to the internal

option of the candidates is to be made explicitly before the answer.

Each question carries 15 (fifteen) marks.

TH: (3.1) (A) Tt Gl st e 1eaaA e, i ST T SR 1 IWA

Cro| el Raenisal & wfovm | gow : wien Raerst
e | 5 | 2:1
HIGIE 12 1:1
L 8 1:7 o
quwehl 13 . 1:4
Jefifeq 26 T
fonane _ 16 _ 3:1 B}
diErsi W 2:3
e flagenfsal & & = 100
(a) el Afeen Raenfedl A wean fhadt & ?

(b) fora @re i watfes geu faenfedi 3 s foran 7
(c) e i gl 1 wertl et (9o el i) el o e i & 7

4

N
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Study the following table carefully and answer the questions given below :

Sports | Total p':'ayeripercentage Male : Female F;Iaygrs
Boxing 15 2:1 }
Chess 12 1:1 _
‘Snooker 8 1:7 _
Swimming 13 1:4
Badminton 26 1:1
Cricket 16 3:1
Shooting 10 2:3

Total number of Players = 100
(a) What is the total number of female players ?
(b) In which sport maximum number of male players participated ?
(c) Whatis the percentage of male players participated in snooker to all
the players (male and female) ?
: HAAAT/OR
(B) TETeH Ioa T § ? FH1EH HAYIeT YU e hrgfer o fohe e i 2 7
FTEH P oh T AW & Tehel © 7
What is quantum supremacy ? How quantum computing is different

from traditional computing ? What can be the possible applications
of quantum computing ?

S: (3.2) (AY Il % Aehfcud Al 1 aanm el o vl Y | o i | s
UTEATA] o6l fora=mT R |
Discuss the current scenario of alternative sources of energy and give
an account of their future prospectives.
HAAT/OR
(B) ot wd deriteht =1 wrferes @i amidien ferera 3 ST TSy | T
Jarewn Tl |

Explain the applications of science and technology in social and
economic development. Give its some examples.

7 : (3.3)_}9:) AT TR @ gwed B 7 3 R & w8 et e &
1T i Ta&T T U R |
What are endocrine glands ? Describe in brief the functions of
hormones secreted by these glands.

HAAAT/OR .
(B) TR 391 fo 11 T ook T 31 et =Y Toremre e o oo st 3 o

T AT § A ST TE A1 i H ST B S TR Wediel Tafrest &t
GuUiarT &9 4 < T Hhd © 7
What are the impediments in disposing huge quantities of discarded
solid wastes which are continuously being generated ? How do we

remove safely the toxic wastes that have been accumulating in our
habitable environment ?

‘.5.

A\ AR
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SECTION - BEUE - &

WIEH 15 SRR 39~ &, SR Y9 1 S Srea 15 & 20 st 3
?;;,% | Bt v arframed § | sreden e 03 (f) S D | (15x3=45)
|

S question contains 15 very short type sub-questions. Answer each question

in n’jaximum 15 to 20 words. All questions are compulsory. Each question
carries 03 (three) marks.

S (1.1) T 35 s Tt 3 2011 o) SO 3 ST AEET T T D 7

In which State of India has the lowest literacy rate according to 2011
census ?

R (1.2) G.DR. A FT AR ?
What do you mean by G.D.R. ?

SR (1.8) “yem el e’ & a9 1 wwe & 7

What do you mean by ‘Minimum Support Price’ ?

T (1.4) s <R U o arelerareen F e S e vl ol R 7

Which sector of economy contributes the highest share in National Income
of India ?

SRA: (1.5) STEeE @ oY T aE & 7

What do you mean by devaluation ?
T (1.6) f&= (TRIPS) T ® 7
"~ Whatis TRIPS ?
S¥: (1.7) U A1 Ao <Y et i @ 7
-How many measuring methods of National Income are there ?

FE: (1.8) Tohel SR IeUTE & STTH T AR D 7
What do you mean by Gross Domestic Product ?

T (1.9) W 19 301 w7

What is the Start Up India Programme ? )

e (1.10) T=0~1 SUSIT 47 & 7

What is Disguised Unemployment ?

TE: (1.11) GG WS (TR wiE) TR 7

What is Buffer Stock ?

S (1.12)  “eii-Ieai orgara’ & ST o ammRy 7

What do you mean by ‘Capital-Output Ratio’ ?

ue: (1.13) GTHE e g 7

What is the relative poverty ?
-6-
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we: (1.14) SRar A 7
What is UDITA Yojana ?

S (1.15) T B St e it arleton el v R g 7
Where Is Natlonal Institute of Virology is locatod In Indla ?

. PrefRam S R 10wl S sa e 100 vl RiRaw) sredes st 6 (8:)

37! L 2 (10x6=60)
Write the answers of any ten of the following questions In maximum 100 words.
Each question carries 6 (sIx) marks.

T (2.1) “Tentnit e ifvaE 3 g w3 TR 3 g |
Explain the important pillars of ‘Atmanirbhar Bharat Abhlyan',

TE: (2.2) e R S Rt & % R A snurog 2R 6w & Fril # Ty
Hfm |

State the reasons for the lack of infrastructure for the growth of manufacturing
sector in Madhya Pradesh.

T (2.3) ‘el & sl areierereen # el oft gi & || 5w wey # o1 fem
forfe |

‘Globalization lsads to sustalnability In the Indian Economy.' State your
views in this regard.

T (2.4) TR 3 QTR 1 TR STaTEe )
Explain the importance of National Income Accounting.

T: (2.5) WA H e 3w ¥y drger a6 vl trem i A R R E 7

How is the methodology followed by the Rangarajan Committee different
from that of the Tendulkar Committee in measuring poverty in India ?

TE: (2.6) a8 SRR’ i oA A T A0 30T R SER WA SgY |
Examine the ‘Service Area Approach' in terms of rural credit.
T: (2.7) T H A e sl o @ ¢ e A |
Why Is Monetary Transmission not effective in India ? Examine.
S: (2.8) “Tordve ol &'l e, Rfimon e Pk g w e A | R
* FNT)

‘Special Economic Zones' are an engine of Industrial development,
manufacturing and exports.’ Explain.

T (2.9) e T3 o i fereprar f wenfAeR Y et R sarem @k |

* Explain the role of Horticulture In agriculturat development of Madhya -
Pradesh.
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STE: (2.10) ¥ 2020-21 % 9o & fmTeh 3 v & weher o Ieame 61 gt <t e
Hifr |

Explain the trends of GDP of India in first two quarters of the year 2020-21.

T: (2.11) 7eq vow & i & § ey it 6 e iR |

State the major weaknesses of Madhya Pradesh in Agricultural Sector.

T (2.12) T Forereft 3 w0 & wivtret & s o g gan & 1w |

"Subsidy in the form of free electricity has led to depletion of ground water.’
Explain it.

T SR 7 03 -3 ¥, ek T 1 IR AT 300 Wi & 3 24 WA T
ST ¥ | sredren s ariafes fRepen o 31 arvarefl R aviafes Rises 1 9902 &
%mwmm%maaﬁaﬁa:aﬁlmmw(m)éﬁﬂ%a (3x15=45)

There are 03 sub-questions in this question, each has to be answered in maximum
300 words. All questions are mandatory. There is also an internal option in
every question. The answer to the internal option of the candidates is to be made
explicitly before the answer. Each question carries 15 (fifteen) marks.

S¥: (3.1) W Srefereen § wrcieiiics & ot Sehrgdi ot sifirem wd FrsafRy T e
hifsrT |
Evaluate the role and performance of Public Sector Enterprises in the
Indian economy.

HAYFT/OR

~ TS e e atfifaem, 2013 it feemm fhifsm |
Explain the National Food Security Act, 2013.

¥ : (3.2) . ST § ATHIOT 7R et SIS 3 Weptel Ue Sl o6 Soei@ i |

Explain the nature and causes of rural and urban unemployment in India.
HAAT/OR
WA & gel et 3 uri i STafeer ok fywerarati =1 faseiwo Hiftm |

Analyse the achievement and failures of second generation reforms i India.

9¥: (3.3) W TR g W §9 3fvear wrlsen & qed sive [ & Taum) 6
fea=rm &t |

Explain the provisions of skill development under Make in India Programme
taken by Government of India.

HAYFT/OR '
» Tr{teft ST STRT it ST ) o e T Reh e e S e oy
B Tl © 7 379 Al Fehe R |
How Universal Basic Income may be a tool of reducing income
inequality and poverty ? Give your opinion. |

-8-
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